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GENERAL APTITUDE

10.

11.

12.

13.

14.

15.

16.

How does light normally travel?
A) In concentric circles B) In a straight line
C) Always towards a dark area D) In a curved line

First Country to undergo industrial revolution:
A) France B) Britain C) Germany D) USA

A solar water heater can not be used to get hot water on
A) A sunny day B) A cloudy day C) A hot day D) A windy day

In India, the first cotton mill was set up in
A) Madras B) Bombay C) Kanpur D) Surat

Regur soil is the other name of
A) Black soil B) Alluvial soil C) Arid soil D) Laterite soil

The different group of stars is known as
A) Constellations B) Celestial bodies C) Asteroids D) Comet

Which country has two-party system?
A) India B) Sri Lanka C) United Kingdom D) Nepal

Which of the following is a macro nutrient?
A) Mn B) Mg C) Cu D) Zn

The process of evaporation causes
A) Cooling B) Heating C) Dryness D) None of these

Place directly above focus on Earth’s surface is known as
A) Strike B) Comma C) Epicenter D) Origin

HCF of 84 & 270 is
A) 8 B) 6 C)4 D)2

The sum of first five multiples of 3 is:
A) 45 B) 65 C) 75 D) 90

7:12 isequivalent to:
A) 28 :40 B)42:71 C)72:42 D)42:72

Find the simple interest on the Rs. 2000 at 25/4% per annum for the period from 4™ Feb 2005 to 18" April 2005
A) Rs. 35 B) Rs. 30 C) Rs. 25 D) Rs. 40

The average of 20 numbers is Zero. Of them, at the most, how many may be greater than zero?
A)0 B) 1 C) 10 D) 19

An athlete runs 200 meters in 24 seconds. His speed is?
A) 10 km/hr B) 17 km/hr C) 27 km/hr D) 30 km/hr
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17. Every rational number is
A) A natural number B) An integer C) A real number D) A whole number

18. What decimal of an hour is a second?

A) .0025 B) .0256 C) .00027 D) .000126
19.  Afruit seller had some apples. He sells 40% apples and still has 420 apples. Originally, he had how many ?
A) 588 apples B) 600 apples C) 672 apples D) 700 apples
20. A does awork in 10 days and B does the same work in 15 days. In how many days they will do the same work
together?
A) 5 days B) 6 days C) 7 days D) 8 days

DOMAIN KNOWLEDGE

21. When filing soft metals, the file teeth are clogged with minute particles of metal. The file should be cleaned by

A) Washing it with water B) Rubbing on wood
C) Washing it with dilute acid D) Using file card
22. The process used to improve fatigue resistance of the metal by setting up compressive stresses in its surface, is
known as
A) Hot piercing B) Extrusion C) Cold peening D) Cold heading

23.  Thermitwelding is often used in
A) Replacing broken gear teeth
B) Repairing broken shears
C) Joining rails, truck frames and locomotive frames etc.
D) All of the above

24. The electron beam welding can be carried out in
A) Open air B) A shielded gas environment
C) Vacuum D) A pressurized inert gas chamber

25.  Anoxidising process used for aluminium and magnesium articles is called
A) Galvanizing B) Anodizing C) Parkerising D) Sherardizing

26. The algebraic difference between the minimum limit and the basic size is called
A) Actual deviation B) Upper deviation C) Lower deviation D) Fundamental deviation

27. Piercing is an operation of cutting
A) Acylindrical hole in a sheet of metal by the punch and the die
B) A hole (other than cylindrical) in a sheet of metal by the punch and the die
C) A flat sheet to the desired shape
D) A number of holes evenly spaced in a regular pattern on a sheet of metal

28. In welding, the weld may be made either from left to right or from right to left.
A) Forehand B) Backhand C) Vertical D) None of these
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29.

30.

31.

32.

33.

34.

35.

36.

37.

38.

39.

40.

41.

42.

The temperature of oxy-hydrogen flame is oxyacetylene flame.

A) Same as B) Less than C) More than D) None of these
A moving mandrel is used in

A) Wire drawing B) Tube drawing C) Metal cutting D) Forging

A rip saw

A) Is a two man saw B) Is used for cutting along the grains of wood
C) Has a narrow blade with two wooden handles D) All of the above

Which of the following methods can be used for manufacturing 2 meter long seamless metallic tubes?

A) Drawing B) Extrusion C) Rolling D) Extrusion and rolling
The minimum size of abloom is

A)5cm x5cm B) 10 cm x 10 cm C)15cm x 15¢cm D) 20 cm x 20 cm
Acetylene gas is stored in cylinders in

A) Solid form B) Gaseous form C) Liquid form D) Any one of these

In a four high rolling mill, the diameter of backing up rolls is the diameter of working rolls.

A) Equal to B) Smaller than C) Larger than D) None of these

The edge of a steel plate cut by oxygen cutting will get hardened when the carbon content is

A) Less than 0.1 percent B) Less than 0.3 percent

C) More than 0.3 percent D) Anywhere between 0.1 to 1 percent

Shift is a casting defect which

A) Results in a mismatching of the top and bottom parts of a casting
B) Results in general enlargement of a casting

C) Occurs near the ingates as rough lumps on the surface of a casting
D) Occurs as sand patches on the upper surface of a casting

When a hole or cavity to be cored is not in line with the parting surface, then a is used.
A) Horizontal core B) Vertical core C) Drop core D) Balanced core

The adhesiveness is the property of sand due to which
A) It evolves a great amount of steam and other gases B) The sand grains stick together
C) It clings to the sides of a moulding box D) None of these

In sheet metal work, he cutting force on the tool can be reduced by
A) Grinding the cutting edges sharp B) Increasing the hardness of tool
C) Providing shear on tool D) Increasing the hardness of die

Which of the following statement is wrong?
A) The mortise gauge has two scribing pins B) The gouges are chisels with a hollow shaped blade
C) An auger is a planing tool D) All of these

The mode of deformation of the metal during spinning is
A) Bending B) Stretching C) Rolling and stretching D) Bending and stretching
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43.

44,

45.

46.

47.

48.

49.

50.

51.

52.

53.

54.

In forehand welding, the weld is made
A) From left to right B) From right to left
C) First from left to right and then from right to left D) Either from left to right or from right to left

The temperature at which the new grains are formed in the metal is called
A) Lower critical temperature B) Upper critical temperature
C) Eutectic temperature D) Recrystallisation temperature

The surface to be left unmachined is marked on the pattern by
A) Red colour B) Yellow colour C) Black colour D) Blue colour

A three high rolling mill consists of three rolls placed one above the other. Which of the following statement is
correct?

A) The upper and middle rolls rotate in the same direction whereas the bottom roll rotates in opposite direction
B) The upper and bottom rolls rotate in the same direction whereas the middle roll rotates in opposite direction
C) The bottom and middle roll rotate in the same direction

D) Any one of the above

The metal extrusion process is generally used for producing
A) Uniform solid sections B) Uniform hollow sections
C) Uniform solid and hollow sections D) Varying solid and hollow sections

A jolt machine is used to

A) Ram the sand harder at the pattern face with decreasing hardness towards the back of the mould
B) Ram the sand harder at the back of the mould and softer on the pattern face

C) Produce uniform sand hardness throughout the mould

D) Produce uniform packing of sand in the mould

Ina , two or more operations are performed simultaneously at the single stroke of the ram.
A) Simple die B) Progressive die C) Combination die D) Compound die

The operation of bending a sheet of metal along a curved axis, is known as
A) Plunging B) Notching C) Slitting D) Forming

The property of sand due to which the sand grains stick together is called
A) Collapsibility B) Permeability C) Cohesiveness D) Adhesiveness

If an aluminium pattern made from a wooden master pattern is to be used for grey iron castings, then the shrinkage
allowance allowed on the wooden pattern should be
A) 10 mm/m B) 16 mm/m C) 20 mm/m D) 26 mm/m

Which of the following statement is wrong?

A) The angular clearance on dies varies from 0.5° to 1°

B) In drawing operation, the metal flows due to plasticity

C) In press operation, the size of the pierced hole is independent of the size of punch
D) None of the above

The cross-section of a chisel is usually
A) Rectangular B) Square C) Hexagonal D) Octagonal
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55.

56.

57.

58.

59.

60.

61.

62.

63.

64.

65.

66.

67.

In backhand welding, the angle between the welding rod and the work is as compared to forehand
welding.

A) Same B) Less C) More D) None of these
A zinc diffusion process is called

A) Galvanizing B) Anodizing C) Parkerising D) Sherardizing
The hot working of metals is carried out

A) At the recrystallisation temperature B) Below the recrystallisation temperature
C) Above the recrystallisation temperature D) At any temperature

In order to check the clearance between two mating surfaces, a gauge should be used.
A) Ring B) Plug C) Feeler D) None of these
Seam welding is best adopted for metal thickness ranging from

A) 0.025 to 3mm B)3to5mm C) 5to 8 mm D) 8 to 10 mm

In a cold chamber die casting machine

A) Melting pot is separate from the machine B) Melting pot is an integral part of the machine
C) Melting pot may have any location D) Low temperature and pressure is used

Cutting and forming operations can be performed in a single operation in a

A) Simple die B) Progressive die C) Compound die D) Combination die

The process of decreasing the cross-section of a bar and increasing its length, is called

A) Drawing down B) Upsetting C) Spinning D) Peening

When more volume of acetylene and less volume of oxygen is supplied, then a flame is obtained.
A) Neutral B) Oxidizing C) Carburising D) None of these

Metal patterns are used for

A) Small castings B) Large castings

C) Complicated castings D) Large scale production of castings

Structural sections such as rails, angles, 1-beams are made by
A) Hotrolling B) Hot drawing C) Hot piercing D) Hot extrusion

The teeth of hacksaw blade are bent

A) Towards right

B) Towards left

C) Alternately towards right and left and every third or fourth left straight
D) May be bent in any direction

Loam sand is a mixture of
A) 30% sand and 70% clay B) 50% sand and 50% clay
C) 70% sand and 30% clay D) 90% sand and 10% clay
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68.

69.

70.

71.

72.

73.

74,

75.

76.

7.

78.

79.

80.

The advantage of Thermit welding is that

A) All parts of the weld section are molten at the same time

B) Weld cools almost uniformly

C) Results in a minimum problem with internal residual stresses
D) All of the above

Which one of the following material will require the largest size of riser for the same size of casting?

A) Aluminium B) Cast iron C) Steel D) Copper

The welding process used in joining mild steel shanks to high speed drills, is

A) Spot welding B) Seam welding C) Flash butt welding D) Upset butt welding
When the molten metal is fed in the cavity of a metallic mould by gravity, the method of casting is known as
A) Die casting method B) Slush casting method

C) Permanent mould casting method D) Centrifugal casting method

Lancing is the operation of

A) Cutting a sheet of metal in a straight line along the length

B) Removal of metal to the desired shape from the edge of a plate

C) Cutting a sheet of metal through part of its length and then bending the cut portion
D) Bending a sheet of metal along a curved axis

The chisel used for cutting key ways is
A) Flat chisel B) Cape chisel C) Round nose chisel D) Diamond pointed chisel

According to Indian standards, the total numbers of tolerance grades are
A) 8 B) 12 C) 18 D) 20

The metal patterns as compared to wooden patterns require less
A) Shrinkage allowance  B) Machining allowance C) Draft allowance D) Distortion allowance

In blanking operation, the clearance is provided on

A) Punch

B) Die

C) Half on the punch and half on the die

D) Either on punch or die depending upon designer’s choice

For gas welding, the pressure desired at the welding torch for oxygen is

A) 7 to 103 kKN/m? B) 70 to 280 kN/m? C) 280 to 560 kN/m? D) 560 to 840 kN/m?
For gas welding, the pressure desired at the welding torch for acetylene is

A) 7 to 103 kKN/m? B) 70 to 280 kN/m? C) 280 to 560 kKN/m? D) 560 to 840 kN/m?
In welding magnesium with TIG arc welding, direct current with is used.

A) Straight polarity B) Reversed polarity C) Both (A) and (B) D) None of these

In welding copper alloys with TIG arc welding

A) Direct current with straight polarity is used B) Direct current with reversed polarity is used
C) Alternating current is used D) Any one of these

1403_17 (A) 7



81.

82.

83.

84.

85.

86.

87.

88.

89.

90.

91.

92.

93.

The draft or taper allowance on casting is generally

A) 1to 2 mm/m B) 2to 5 mm/m C) 5to 10 mm/m D) 10 to 15 mm/m
Thermit, used in Thermit welding, is a mixture of

A) Charcoal and iron oxide B) Charcoal and aluminium

C) Iron oxide and aluminium D) Charcoal, iron oxide and aluminium

The process of increasing the cross-section of a bar at the expense of its length, is called
A) Drawing down B) Upsetting C) Spinning D) Peening

For welding plates of thickness less than 5 mm, its edges
A) Do not require bevelling B) Should be bevelled to a single-V or U-groove
C) Should have a double-V or U-groove on one side D) Should have a double-V or U-groove on both sides

Which of the following welding process uses non-consumable electrodes?
A) TIG welding B) MIG welding C) Manual arc welding D) Submerged arc welding

The material which can be best cut with oxygen cutting process is
A) Mild steel B) Brass C) Copper D) Aluminium

Swab is used for

A) Smoothing and cleaning out depressions in the mould

B) Cleaning the moulding sand

C) Moistening the sand around the edge before removing pattern
D) Reinforcement of sand in the top part of the moulding box

For arc welding
A) Alternating current with high frequency is used B) Alternating current with low frequency is used
C) Direct current is used D) Any one of these

A file removes the metal during
A) Forward stroke B) Return stroke
C) Both forward and return strokes D) None of these

Riddle is used for

A) Smoothing and cleaning out depressions in the mould

B) Cleaning the moulding sand

C) Moistening the sand around the edge before removing pattern
D) Reinforcement of sand in the top part of moulding box

The purpose of a gate is to

A) Delivers molten metal into the mould cavity

B) Act as a reservoir for the molten metal

C) Feed the molten metal to the casting in order to compensate for the shrinkage
D) Delivers molten metal from pouring basin to gate

The oxyacetylene gas used in gas welding produce a flame temperature of

A) 1800°C B) 2100°C C) 2400°C D) 3200°C
In order to produce uniform packing of sand in the moulds, a is used.
A) Sand slinger B) Squeezing machine C) Jolt machine D) Stripper plate machine
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94.

95.

96.

97.

98.

99.

100.

Carburising flame is used to weld
A) Steel, cast iron, copper, aluminium etc B) Brass and bronze
C) Hard surfacing materials such as stellite D) All of these

A basic shaft is one whose
A) Lower deviation is zero B) Upper deviation is zero
C) Lower and upper deviations are zero D) None of these

In piercing operation, the clearance is provided on

A) Punch B) Die

C) Half on the punch and half on the die D) Either on punch or die depending upon designer’s choice
The brass and bronze are welded by flame.

A) Neutral B) Oxidizing C) Carburising D) All of these

The accuracy of micrometers, calipers, dial indicators can be checked by a
A) Feeler gauge B) Slip gauge C) Ring gauge D) Plug gauge

For obtaining a cup of diameter 25 mm and height 15 mm by drawing, the size of the round blank should be
approximately
A) 42 mm B) 44 mm C) 46 mm D) 48 mm

Most of the oxyacetylene welding is done with
A) Neutral flame B) Oxidizing flame C) Carburising flame D) All of these
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A)THFZTAT AT B) ST & U o AT Fled o (o7 TIRT haT Srar g

C) 3 7 ¥ Fzer ¥ A7 v FA 59w 3 D) ST st
2 wyze = Frafer e =pat ¥ frafor 3 o ey # & 21 o Ffenit =1 zerer e 9 Far 32

A) gT=TT B) TGS

C) Trferr D) TaAgST 3T TAferT

T 5 F IAqH AHT AT g

A)5cm x 5cm B) 10cm x 10 cm C)15cm x 15 cm D) 20 cm x 20 cm
THITeoA 9 19 & ffevey § &1 J1aT1 8

A) 39 =9 | B) i =4 § C)TTA&ETH D) IUIh &5 AT
T IF T T §, S 3T 1T T AT H71d U 6 AT grar gl

A) TET B) @rer C) a=T D) =98 & ®Is T 7&l
AT T GIXT FTET TAT UF T T FSIC @I SATUIT ST FHTa ol 71T gl g

A) 0.1 sfaera & %9 B) 0.3 wfera & &9

C) 0.3 wfaera & srfars D) 0.1 & 1 wferd & ==

e U TR Tt g S

A) FTRT F T 3f7 5= F et % a0er & afomy

B) U FTTEdT o HTHTT faeqme § oy

C) U= FeTE T Hag u% ot 7 3T 32 F =9 & 9rem F I A 8
D) U= TR F SULT Tdg U I % 0= % w7 § grar g

ST & IT Rl [ HTeT AT ST 8, T 91 67 qag % &7 =i aral &, [ TF ST
ERISIEIE]
A) &faT F1e B) FTarT F17 C) T D) s e #e
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39.

40.

41.

42.

43.

44,

45.

46.

47.

48.

49.

T T Foahed ATAT 07  FA( T

A) Tg ATT ST o= AT A T F=1 /AT (A a Far g
B) Y& T I U AT f=raht Tgar g

C) 78 U Hifee T e & Ty 7% f=raes Srar g

D) TH & FIE AL

ofTe oTq & FTH |, ITH IT T T & a8 FH F7 T &

A) FTee FT FRAT T AT AT B) IUEOT T FHSLAT T TETHT

C) I 9T T YT FTAT D) @i #T FSIAT T TETAT

9 o | 1 A7 e T 22

A) HTEST IS % 919 a1 (epfd fa= 8 B) T Ue: oA« AT § @Il ST AT 5o & q19
C) FTHT TF TATT ITHIT & D) =H & g+t

T & T o T SH AR 6 FEATT FHT TN 21T &

A) St B) wf=iT C) Trfei ofire w2 = D) a3 sie w2 f=imT
Fiige AfceT §, Aee AT AT g

A) A B) = & =

C) & 92l 910 § 2T0 ¥ 7 210 & a0 D) IT T aT0 & 274 47 I14 § 10
T | I 7T I+ AT ATTH [ FHgl J1aT g

A) FH g ATTHT B) 3 el araHT

C) FefFa araum D) fsFeaeTester araaT

e U¥ SHTAvE FYIET 4T Adg (Hfved a1 STar g

A) T [ET B) fi=T TrgmT C) FTeAT T[IgTT D) & [grT

ST 37 DT =T | 1 T B § ST T gL H% R gid 2| efertera & & i =7 o 76 22
A) T ST HLAq T UF ot 2o H oqAq § Sat qr= et o o # gHar @

B) ST #I¥ T9=rel Tt U &t [9IT § J[ATU &t Hed U (A0 (@9 § LHaT &

C) == =fI¥ 7ex T U of f<oT ¥ /a1 &

D) STIE | H FIE UF

T eI TThAT ATHATE I ICATEA 6 (o0 T 77 Srar g

A) T ST A4 B) qWI @& &%
C) IHT 319 3T @il a9 D) 319 3T @il a1 &l 3T T FHLdAT
T Siee Hefe FT AR 36T 1T 5

A) TH T AT JIo€ & 4T I A FH3AT § HHT 6 G919 Teof 7e 97 H6F glal g
B) ¥ YT Hlod HIee & UIe; ¥ Ted JgL I¢ a3

C) IX HIee § T4l ¥d Fa1edT T IcaTa HddAT

D) A § ¥q &l U THIT 1T A7 3caTaA

TH H, I AT ATeF AT T F Uehed 219 I T A1 FRIT 77 2
A) T3 Fi=T SEPGICIEI C) ST @i=T D) =1 ==
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50.

51.

52.

53.

54.

55.

56.

57.

58.

59.

60.

61.

62.

63.

THATARTT A& o AT GTq 0l &< AT & TATAT 6 & [ ST ATAT &

A) iR B) =T C) feafe D) it

¥ T 0T 516 0T T HT AT Uah A1 =7 Tgar g, SH Fgr Jar g

A) HEATHT B) ot C) T8v=aT D) s AT

7T AHST F AL Tod | a9 UFh TegHI I Ted H SEdqTd I AT FHeeT % (o0 AT Srar g, av
FHET o Fedd O HhI0 AT gHAT AT

A) 10 mm/m B) 16 mm/m C) 20 mm/m D) 26 mm/m

% & & =09 97 <6 Tq 872

A) T 9T w5947 0.5 Rt & 1 Ry o o g €

B) ST AT H, TATIEea =hl Aolg & &Tq gl §

C) I AL H, TAT & FT AHIL G & AR F €907 grar g
D) SRk § & FrE T TE

T T T - AT I grar g

A) AIATEHRTT B) TFmaY C) TFITT= D) srg=hiofia
JHe e dfcet H, AT T T FTH & S14 & B Bae dToeT @l qadr o grar gl

A) T B) &9 C) wrfer D) =98 F FIs A2t
T STEAT T TTHAT T Hgl AT §

A) ST ST B) AT iR C) I T D) gregrtET

T T ITH HIH AT SATAT 5

A) TFEATESOT ATTHTT TX B) fiFEeaATESIeN qTIHTH & A1

C) fiFecaATesad aTIHIT & 39T D) freft off aro|m 7%

T AT Fagl & S Sl A ST & o, U ST T SYANT FoRAT ST = TR

A) fr B) T C) frere D) =¥ & FIE ALT
T At ot F=eif g F o7q Hiers & o STy Srar 8

A) 0.025 5 3 mm B) 3% 5 mm C)5% 8 mm D) 8 & 10 mm
UF 33 e @A e gofia |

A) Torarerer areT 957 99 & T 8 B) #fee aa+ wefiwr &1 arforwr fgemr 2

C) forarer qfe § #I< TI19 g1 9T & D) ¥ ATIHTH 3f¥ TaT T TEIHTA (hAT STAT §
T ST IR Uohet F=1e § 67 ST 6T &

A) 9% T § B) R @A | C) =3 &= o D) Fae| @i |
T qTL o HI-TFMT il FH Hild AT ST AGTS TET 0l THAT I Figl STTaT &

A) F=r s B) sraerfe C) feufaw D) fufa

ST TR T STTA JTAT ST SAFHISIT 0l HH HIAT o0l STILT hf ST &, AT Th AT 9TH Il &l
A) g SEEGIEEL C) T RrRT D) =H & #rs off 7t
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64. oTq T FT TEATA 21aT &
A) BTE FTfEaT % form B) &% #feaw & forw
C) Ffsa #rfea & forg D) FTRT % a2 3= % ™y

65. o, FIOT, S-S T o< T 99 gid 3
A) TR TTeRT B) TH =T C) H 9ad D) IH TS

66. THII S F I(T FAFH AT S
A) TTE TH
B) & 3T
C) Ferfous 7 F a0 3T 970 AT e Teah frae 71 = ara wiefy
D) foreft T faerm & T g AT

67. AW T WHATIATE
A) 30% T T 70% THET B) 50% ¥ 3T 50% THET
C) 70% ¥ ¥ 30% gt D) 90% ¥ T 10% ey
68. uMcafcesTwTaTwag e
A) AT ATANT o THT I I TF af G707 § =T gan g
B) T TTHIT FHIT €9 H 3375
C) Saia AT T & A1 ~AqT qHedT | TR

D) IU<rh Tt
69. TF% ® & &I | ATHIT FI(ET AR 6 (10 T T2T ATHIT AL T ATT9TFHAT g2
A) TegfatT S EELRIF C) ¥ D) F¥
70. grz ©fte Yo ¥ forw gok &6 F &= § onfRer g § STt it e et afee T gk gt 8
A) w7z IfeeT B) #1% afeew C) FeAer g At D) srqforg = afeew
71. S U= g &Tq T [ECATHUI FIT &1 & ST 6 Tal § e (7 STTav @, av Frfeedr i f@ataewr sar
STAT
A) F=T Frfea &t B) & #Tew fafer
C) TamT Hres wrieay fater D) FeaTIETF FHfee &t

72. SATET AT BAT
A) TS F AT U TrelY Y § orq i v ofte Fwrer
B) U wie & AT & ATTesa AT | &Tq T 21T SITAT
C) ST ST F WTeaw T &7 T U ofie Fre i fhe iz 9T 7 T
D) THTARTY 3187 o AT 4T1q 1 ¢fie FH FT
73.  F3 #ir wiEr F forw zeqwTe gor e grar 8
A) FTe e B) &7 et C) et et e D) g7 sty e

74. ST HIAET 6 ATHTL, AIZEUAT U T Fof HEATT BT &
A) 8 B) 12 C) 18 D) 20
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75.

76.

77.

78.

79.

80.

81.

82.

83.

84.

85.

86.

AFST % Tad &l AT | GTq T T FH =T gl g

A) Frge TaSTH B) gefifiwr tameu=  C) IT¥e UATITH D) feeerei™ uars U=
i gk ¥, e e ST g

A) 9T 9T

B) &= 7

C) T U ST ST G T ST
D) =T AT 9= AT @i= 92| T ST gral ([SSi1ed¥ & &l 9%

o afee % forw, siterfis & forg afcew womar #§ s sama grar g

A) 7 & 103 kN/m? B) 70 ¥ 280 kN/m?  C) 280 ¥ 560 kN/m? D) 560 & 840 kN/m?
i afeeT ¥ forg, ufafeets & om after momar & s sema T &

A) 7 5 103 kN/m? B) 70 & 280 kN/m? C) 280 & 560 kN/m? D) 560 & 840 kN/m?2
TIG 3T 3T & |1 AfeeTT AT H, & AT T AT FraT gl

A) ®Ter gathT B) SeaT gt C) =T (A) 3% (B) D) =7 o IS A8l

e & qrar s arqett # TIG o AfesT gidl &
A) HTET AT & AT T [A=[d ST a1 Srar g
B) Sfeafra g&T=heer & &1 Teaer =T ot Srar g

C) ashfeas fared TRt T STt g

D) =% & FS ¥

FTRET T T AT I0¥ TATIU AT F 21T £

A) 13 2 mm/m B) 2% 5 mm/m C) 5% 10 mm/m D) 10 ¥ 15 mm/m
JTHT ST SETHTA BT g T dfoeT |, Th WU grar g

A) FITAT 3T AT SAFATSS HT B) FIAAT 3 UegfHiaas F7

C) 39T AFETES ST TG H =T &l D) FIaT, AT AFATEE AT TG HI=IH &
THHRT FATE F GH TL UF AT & HI-SF FT TE AT THAT AT Fgl J1aT 8

A) F= s B) sraerfe C) feafa D) fer

5 faeft & m "rers #it afee wew F forw, T At

A) STRTeT T ATFLTFHAT Al gidl g B) UHA-AT AT T-ATAT § ddee ohaT ST AT 50
C) T# qTF TIA-AT AT YA gMT AT D) Z1 9&At 9¥ TF-AT AT T-JF AT ATRT
Raferiad § & #i9 |7 afeew fafer a1 @ua g e TaFee SEHTT FedT 872

A) TIG afeeT B) MIG afeew C) AT« a1 Afeer D) HaHSE o afeeT
AtfaFerSTr sRfear wikaT § a7 Tarel S qe =1 FledT g AT AT 8

A) 79 =T B) dra=r C) qar D) tgfHfaTw
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87.

88.

89.

90.

91.

92.

93.

94,

95.

96.

T T TART 63T 1T 8

A) T ST AT § qA1e T HIH FIAT

B) Wifesw ¥ T q%1E

C) e &1 geT & qgel ThATY % AH-IT9 % ¥ & AT @A T
D) HifeeT aiad & oY 91T § ¥ & qZE o

e afesT & forg

A) IF FMRT & AT Fenfeas &=d ST BT ST

B) FH ST % AT Jehfcash o= ToT 6T Smar

C) weret =1 o SiTat &

D) = & FIE ¥

T RIS 9T Il 22Tl &

A) FITaE T & I B) AT ¥ & I
C) TIH1 HITaS ¥ ATTHT T2Ta o T D) =98 & &l T &l
= &1 TEAHTA gIaT g

A) ez i T A T s we

B) HIfe=T aref it @hre 3 forg

C) Te g2 & 9gol T & 1 AT &l ATH FdeA & (o0
D) AT a3 & U< Aol (g8 | T &l T & (o0

UF A FT 32T grar g

A) TTeE & & T &1 I 1T

B) T &Tq &l T@ o HTH ATaT ¢

C) FTfeeT § aTq & HFed & Hqid HL & (o7 T &1 hIe FLA & (oI
D) TRT S8 & 3[e 9 e &g A1 STA & (o1

e afeew ® TeawTer BT T st o= i Soures Far g araeT

A) 1800°C B) 2100°C C) 2400°C

e § ¥d T UF THTT A1 e o forw, v T ITART FohaT STaT 2
A) 1 T B) fagew wefim C) ez mweft
FTILTS T AT THERT A FA o o7 ITANT T AT 872

A) TEITT, FGT ATT, TTe, TAHIHIH e B) fiaet i Fiexr

C) TeTdiT S IS TThHET aTHfT D) =¥ & 7+t

T AT 9T BIaT & Ueh, Toraehm

A) frrer famer o 2 B) St farsrerst o7 &
C) A% ol o<t A== = & D) = o &S A8l
AT % HATAT |, HSIT T&TF T AT §

A) 9= B) ==

C) o= U st Y @A 92 e
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D) 3200°C

D) ffeuv wre wefte

D) =T a7 fSSTeA< &t 96% F e 9% 9= AT GiaT 97



97.

98.

99.

100.

et i Fed &l AT T Fege FRaT STaT 2

A) g S EETiEaul C) FTaTS Rt D) =98 & q+T
ATSHIHICT, FATTH, STTA STShadl hl TERAT ol ST HT Tohdl g

A) fFer It B) f2erT et C) fr it D) T T

ST 3T 25 Tt ofw S 15 THeT 1 2418 W F°2e  for, et R &7 SIhe 97T gieT 1R’
A) 42 mm B) 44 mm C) 46 mm D) 48 mm
SATAFRTET ATFH TR AT AToe T foheteh T FohaT SITaT 872

A) =g T B) strarte T &t C) FTET ST Al D) 39 Tt
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GENERAL APTITUDE

1. SIS TR0 907 "1 Y8 SHidl ?

A) THRS TBTRRIT B) Wl W HY

C) JeHi Ueht SFumHy e fevd D) ahivd
2. Y| < Y Sf=nfies shifd gt

A) ®E B) fsrea C) St D) T ud
3. TH Uil csavamETdt dierarvarer €iet 7 et soar Jum T

A) T AT STV faae B) 3T14Te3 3rurr=yt feasft

C) Tt v feaw D) 2Afasr gy 7eorm=n feasfh
4.  VIRAT WY YUW HIOETA] garet FRof 39 39rvard seft -

A) H3H B) Skl C) Y D) §d
5. forwrdt g gE A oTR ¢

A) TSt ATt B) MesT=ht (STgfarsta) ATt

C) &7 ATt D) AT (feTmge) Hret
6. AT TS e I AT ST :

A) FHiEATE B) facifeecsa aiidly C) ivetizen D) e
7. SRIVTCAT ST T5-ver Ugdt 3R ?

A) 9Rd B) sfietert C) gArIeE fhren D) quTes
8.  WIciicl Uehl ShivTd ekl UifEeh Uerel 2R ?

A) Mn B) Mg C) Cu D) Zn
9. STt WA Wi § R

INEE B) TH C) ®e D) st shivrd &t ATt
10.  gefi=aT g8 ST 92 o 1T Sheed Tl FeuldTd :

A) ¥T5h B) shidT C) udigiex D) ififsH
11. 84 37fir 270 & HCF 3R :

A)8 B) 6 C) 4 D) 2
12. 3 =31 99 UM Heeluerd! (Widial a@an) siist 3T -

A) 45 B) 65 C) 75 D) 90
13. 712 ARl 99 3T -

A) 28 : 40 B) 42 : 71 C)72: 42 D) 42 : 72
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14. ®. 2000 X 25/4% Ufd a9 GBS 4 HER 2005 o 18 TRIS 2005 N HIBTHTS! I
A) . 35 B) ®. 30 C)®. 25 D) &. 40
15. 20 37T GUEH TR Y. AT, STediasied, fohedt S ver s1fere stadiar?
A) 0 B) 1 C) 10 D) 19
16. T SRTE0T BAeiell 9Taug 24 TehaTd 200 Hie gradl. == 97 3R -
A) 10 km/ara B) 17 km/at& C) 27 km/dt& D) 30 km/dt@
17. e QU1 fohall STqul S7ehTd I B15e STl He (THe) o1TR -
A) Tsh TTHTfereh BT B) U qUIfsh
C) T Wi D) T |quf @A (Whole)
18. s Tehe Ueh aTa fehell 29maT SR
A) .0025 B) .0256 C) .00027 D) .000126
19. TH % [Iohcdl e FIE 968 Bid. a1 40% Thas faehdl ST Q=T 319 420 HHER Rieaish
TR, W, HooTd AT=ATHS Tl THTE B 7
A) 588 THEE B) 600 UHL=S C) 672 TH=E D) 700 E%=E
20. A TH ®M 10 fagdrd guadl 1Mo o= M B 15 fea@ma qui sidl. X d 38 U o s fohd! fesEma quf
EaGi K
A) 5 feam B) 6 fea@ C) 7 feam D) 8 fgam
DOMAIN KNOWLEDGE
21. T I BRI AT, B Samd gTq TeH gohe ST STaTd. HIsd SER Fes ! :
A) 10T ot B) SATehETaR TIEU C) SFeye e gur D) %15 SIS ST
22, T YEUTTER HEIRHeE T8 U e Yehdl foRiesh GERUATHTS! JTaRvard A= Ffsheiel FurdTd :
A) e faefdn B) UL C) shice Hifdm D) whiee afem
23, oftie afceT Twhas a1 FTHY ATORATT -
A) geotet = ard siga B) Jeaial R1eR & &
C) I, 2o % 30T Alshmlidss Ha I Sieor D) =it Teiehre!
24.  SAd S AfET THE L A5
A) STSTR IRT=AT gad B) FeTd TH=A1 Sramevd
C) " D) YIRIESE $1C T SeRyge
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25.

26.

27.

28.

29.

30.

31.

32.

33.

34.

3s.

36.

37.

ST 0T TR aEgaTd! ATfRaetsrT Ufshan aToRard wITe Furdrd

A) TesgTatenT B) FrerfenT C) USRI onT D) SrEErfenT
TopwT wRITaT SATTOT HAvd ATESTHeETe SIfofeh e 31Te -

A) Tl TRt B) a=h wri=gfd C) @reret AFT=gfd D) Hei¥d AW
To=7fE 2 SHIavaTe STRIA TR

A) T= AT SER 9Tzl TTeR ffcfgawa v qren

B) U= AT0T SRIER = 9=TeR Wi (ffeifgsrat foam) uren
C) B ITTAT AT HITS I3T H1I00

D) TeRT UTq=a1 TR FRfid el §HT STatar 3T-eh Hish q1evl

................ Afcemd, doe Salehed ISEThe 3T Iehd fohdl ISTETehed Slalehe 374 TMehd :

A) BIES B) sihee C) seféwat DENREINGHEI
AR -TRIGISH ST qIHH AR ATl <=a ............ ATE

INGEEE! B) camaeT s C) e SAferh D) =iiet ShIvTdet Te
Hfegn g T ATRATd

A) TR e B) I3 e C) Hed shieT D) wifsf

T ot oM

A) T TIITET had B) ARSI U= SN[ HIIUATHTST ATRATT

C) TTd g AThe! Freaidied 3TEE saiS T8 D) SRt HeehTe
2 Hiet ATl Ao HfoTeh o=[8 TUR HUATETS! WefieTdeh! ShivTd] Iged! aToal I5d -

A) giEg B) TR

C) oifem D) Tz 3T Ufer

ESUCIRERIE R EE eI

A)5cm x 5cm B) 10 cm x 10 cm C)15cm x 15 cm D) 20 cm x 20 cm
ifafefem o fafcreme =@ gread 9 -

A) Tifets wid B) Tf31ard wid C) foifers wid D) =iiat hIvrag
TehT B B UTerT firemmel, sffohT 319 Torel S ekt U=l T8 ... AT

A) T THH B) ®TIE TEH C) e us D) st shivrde ATet
SATTFASTER SHITAAT Tehl Il I hel hesh Blsdl Siegl cdTd] shisia< JHIU] 3ok T8 :

A) 0.1 TFFITIET FHH B) 0.3 ToFrRITIETT At

C) 0.3 TR ifersh D) 0.1 @ 1 TFRIT=AT SIH FHoel

e Tk T 3 o1 SR ® B -

A) T at=a S Wiet=an qrTme e g

B) SHITEETT=IT 3R ATEROTIO! ST Erdt

C) HITEET=AT IR 3HIESTaes TR el 3cqd 2IaTd
D) ShTEETT=a1 at=AT JBNITER dTedd f3Tes 3cq4 giam
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38. SIogl I HLUITd JUIR 1eh fohall Tiehcd!, UTieT Thaalerd Weht I8 T8d, AS&T ...oveeennn . AT -
A) BifEtieet S B) sefdehal &R C) g &R D) seiee &R

39. Il g (faehequn) dezan at ured 3118 SR 209
A) TG SHTOTI SS9 TTOT ST 789 39 gt B) a1e3d a1ol (IH) U fershedta

C) Hifee sifeer=an SIS forer A Teard D) aia hivrae et
40. IS YA ShHT, TS hicT BIE I FHHT FHLdT Ad
A) T TSI har TTEfET st B) 2T SHEHUIOT dTal
C) e I3 W& vt D) SR HEHIU TG0l
41. WCATR HIU AT G AR7
A) Hifea TsmeE g TRt e oTRd B) TISiE f<ISIet 3118 Tehad SATehIU=AT seigHIsd
C) 3T B &1 & TR D) =il wdehre!
42. Tl BIG STHaHT 9= foshd EEd HIS IR -
A) sifen B) wfam C) Uferr smfor w2 fam D) sifem afor w2 fam

43. HRE-S AfceTmY, JeS 3TH TR B
A) E[aTehed 3Tdlhe
B) 3ISToliehgd Slelishe
C) o ST ehgd Isalehs TN HaR IsTalohgd STaehs

D) STaehed Isfaiene fehal Isefiehgd STEfehe
44. TQHY AT ATIHEIER o 30 TIR BTG el Feurdra :

A) TR fopfeher TP B) T fhfeshet Tra=rt
C) efeeen erat=r D) fifsreeamrge™ Sre=r
45. U ST YA YA AT K o1, e ® foee 2uand A9
A) &TA T B) fUarest T C) TesT T D) et T

46. U ot T et frermel UehTer Uk Jaeict diF Ut ATed. WelicTishl shivTd aTet ST 3R 7
A) T AT Teret Ut Tehre faie fobeara STifor desren Tt foreg, fem foeea
B) o= 101 deaT=l Ued Wehral fa¥ feba S71foT Herett Ut foreg, oy T
C) 3T JATIT HEFeAT Ued Wbl fe9i fobeara

D) a{ie #hIvidel
47. He UHHZRM WISHAT ATRUI BIETE! TRdTd :
A) I TS TeaRd B) I gt Hawd
C) g Hifets 30T Bial Ha™ D) SIeTR Hifere TTfOT St Eamie
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48. Sliee A STRATd BT -
A) o= e aTe; ST T & GreaT=aT A=A STSeTl ST hH! 8id Sal
B) TT=AT=AT HRT=AT SISl aTe} STRTA {0 3 U= haat Shul Sird 1 ol
C) |Ul TT=ATd STega UehEH SR 3c0a L0l
D) HT=ATd T4l UehEHT YfehiT Scqel 3hi0l

49. ...l e, {1 Ukt LIeh a1 fohdT STfereh STTReTE Uehd ShivaTd AdTd

A) frae g B) Wnifdee S C) HIfEHIA B™ D) FMEE S
50. heog STHRAE=AT dT[ ITq=A1 TR AThavT=A] HTRIHAT FETATd :

A) wfsaT B) At C) feafen D) wift
51. A=Al <A1 UTEHIH ATeg aTul Feehed TedTd, el FevrdTd -

A) Frerfeafafedt B) ufuferferdt C) Frefieea D) sferfiegra

52. SR U AR HIETES ARE! AR Ued IR GIR oholcl ST Yed JTRE= 38d, T, dAThel
Yeatia foehs (T SIvaTel IRET) TR d 319 -
A) 10mm/m B) 16 mm/m C) 20 mm/m D) 26 mm/m
53. WTcAIcTIsh! v aTe Fehiel TR 7
A) ST YR fFastid 0.5° d 1° Wi s&erd
B) SIS ATRIAWE, AT Hdes arq ared
C) I8 AT, feog UTeciedn iehT= TTSs Tl UTSSTat ATeiad ATt

D) afiet ShIvTae! ATet
54. Ue fdtan sTedn ¢ (19 SR ATURI 1R

A) TRIATH T B) =fiehiHT C) WeahiHt D) 3Tk
55. Sohe-e dfceTe, BE-e AfeeT=a gaid, dfcer Uesti adhnsfia Simd e ... :

A) THATE ez C) ST D) st shivrde ATet
56. Terep ferg vk weuram :

A) TeseEeE B) FrerfsmT C) Ut D) SrEErfenT
57. WIS giedfoh T8 FUITd Ad

A) TfFEeaTEeT araaTTeR B) fifsreeet@gie ammme el

C) THfsream=ieT arwmeT It D) SRIVTITET qTHTHTER
58. T AfdT gho=ar gefiel fFedeid qumEmamETat, ... ST T

A) far B) T C) Fier D) arfiet sl ATet
59. A1 STEET3! &N Smeia @ Afcen st :

A) 0.025d 3 mm B) 3d 5 mm C)5d8 mm D) 8d 10 mm
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60.

61.

62.

63.

64.

6s.

66.

67.

68.

69.

70.

71.

hice IR S HIET H3fid 7Y -

A) Tfee ute gefiuTed e 3T B) fifcet uie Tefi= Uk rds T 31

C) ufeen uied T H3gt 318 D) SH} qMwT ST IR ATqLoaTd ad

SIS JATIOT BITHT ST et ATRIHE H1Eid HdT Jard g

A) e s B) Wiiftes S C) FHIES S D) SHifEHIE S
T HH-THRH (TS BG) FHH! HLOITAT AT ATel ATGATATAT FEITAT

A) g S B) sudfdn C) feufm D) Wi

Sioe] SR BhaT STt HTTT el TthesTel SATfeesH Jeaet SITd degl ......... S fiesd

A) gz B) stifeaerfsm C) FraEfeTT D) st shivTde ATet
T Yo gITETat aTudTd

A) TEH e B) W3 w1fEaT

C) hifrershes (TN ) shifeeT D) W= JHIUIA IcqTe BIUTR IR

I, I, | -1 U Wl S TER Sael ST -

A) gie At B) Bl gfs C) gie fustfd D) gfe-TaEegsH
THRAT (4T FIITAT HEd ) Soied 3T dTeheiel 3T -

INESEIET

B) Sreftehe

C) AT UTeTed ISTaiehe ST STeffehe ST Feaish T foha =te Srefiene e
D) SvTeTe fevH ameheiet 31edial

T JTe; T 00 3R -

A) 30% dTe3 30T 70% B) 50% dTe3 3T 50% ot
C) 70% e 3TIfoT 30% et D) 90% a1e} TN 10% et
oftie Afcem=n wrer 71 3R

A) o€ T Td TN ThiE 9068 AT ARd B) dog Tdosides THEHTRIAT 9 Bid
C) 3Tt Ufgeten aumamdied forq™ aEt 8ld D) ot Tdehrel

THETEHT ATSST=AT ShEITHTE! W [Adeh! shivTeaT TRl HaTd HISIT ATgsTe TIS AN ¢

A) sTegiatm B) SR AT C) & D) shiw

3= T =T SieT HTses e Yi-oh SSUATHTS! aTqRuaTd JUTT=T AfeeT ishaell TeurdTd

A) fe afeen B) =m afeen C) vy wi¢ afeen D) 3T9H< o< dfeer
StegT Tfeedign U=t ATeATde Wehadid ST ST SRUTd Id, dogl T e Tgdiel TeurdTd :

A) S HIfET ugfa B) TI31 I qgfa

C) uH+e e vgfa D) gt e wgfa
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72.

73.

74.

75.

76.

71.

78.

79.

80.

81.

82.

83.

84.

T BT TR TR -

A) Tl AT =T ST TXes T4 T AT H1aul

B) WA ST ¢ g & 1T THR 07

C) TATelI=aT SIE! HFTHET GTa 931 1901 STIOT FHIITAT WHT AThavt

D) Feeg Afaaer=at SITS[ €T WA arehat

SISt FHIUITATS! STIRUATd JUTHT fealt TR

INESEAEEK] B) Y fer=iet C) T3g I faeiet D) sEvE uiges foeiet
TR WSS THTU, el U=l THUT AT TR -

A) 8 B) 12 C) 18 D) 20

TATHRE Ted=aT Ford UTqea Yeqel & il AT

INEEE R GIEE L B) efifim 1eieest®@ C) TR AARII™ D) feweiia sramzst@
SR SATRIFTE, fFASTH BITe’ YeH el ST -

A) 7=

B) T/

C) 378 U=rer 3TfUT 37 S

D) terer fehar errer, © fesméatean faguarer staeiem 3m

g afcemma, sTifarsaTe! afcen o= g9 3Teds IIN R -

A) 7 @ 103kN/m? B) 70 d 280kN/m? C) 280 d 560kN/m? D) 560 d 840kN/m?
g afceme, ffufefemad afeen o= g9 smeiel Jer TR -

A) 7 @ 103kN/m? B) 70 d 280kN/m? C) 280 d 560kN/m? D) 560 d 840kN/m?
TIG 211 afeSTaied qafyeme afeet sam, ..... HIeld SREFE Thie ITRuATd Id -

A) T2 g B) feete diaifet C) Tt (A)3for (B) D) Tt shivTaEt ATet
TIG 31eh Afcen died shit I Afeen HdaHT, & AU

A) T2 IR Fleld SRREE i B) fieawe uiciididiad SRRae hic

C) AeetATaT i AT D) aiiet shivrdet

FHIRETRI T fohell TR STATSIH TR TR :

A)1d 2 mm/m B) 2d 5 mm/m C) 5d 10mm/m D) 10d 15 mm/m
offife afegmme araroaTa Jum wfife g fsmr o1 -

A) TR 3T TR 3TTFETES B) TReRIA IO STegfHiam

C) 3T SIS ST M i-aw D) SIRaRIE, 3T ATFATSSII ST MiT=m

T SRAH, T AT JohaH T e el shid -SRI (TS 98 ATeaudT=AT Ufshael Feurdrd :
A) g S B) sudfdn C) feafm D) W

5 mm U&T il e dfeet wWedTd!, & e :

A) feeefermt et e B) fémer-V feran U fee=t forsgfor s

C) UshT ATl Saiet -V foham U I[eg 31amel D) 3Ivel SIS gse-V ferat U T[eg 1
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8s.

86.

87.

88.

89.

90.

91.

92.

93.

94.

9s.

GTelcTush! ShivTe dfeet Ufshad A -hsgHed Soidele aTaxdrd ¢

A) TIG afeen B) MIG afeen C) HgTd 37Tk dfeet D) TeTsE 3T dfeet
ATfFa HiT IfHAgR o e Tatd ST I STTd cdTell FevurdTd :

A) ATéee el B) 5T C) & D) srcgfafem
el 9T B3l

A) HiceHE T G TSI ST T ol

B) TifeeT H-e = &

C) e 1 TRUATY sheT=aT a1 aTes STTEX vl

D) WifeeT sifeersa atea TG dey NEwidie (Fefed) ol

aTeh afegmandt

A) 3 FlFH= 3TTee- e hie ardrd B) =T e 3TTeeA T hic aTHATd

C) SRER i JTRA™ D) e shivrde

TR €T Fed T :

A) S T B) fied =i

C) TIEl Biag &k 3T fied ik D) ot ShIvTdE! e

et ardTd gl -

A) Tieenefid G T eTeid ST T vl

B) WifeeT H-e = &

C) e g TRUATYE sheT=a dTS! aTes STTeTE vl

D) HifceT siaa=aT a=a1 WRTId dTead FEWIEHe (AT )

oo 1§ HOITETST 3T

A) FT=AT=AT diehadtd ST 9T dreed

B) I eTeat wrsevarsh ST (ferederst) s

C) Torehstell JohET YRS TRV HIETTa S T wad

D) wifeT aIfe o Teuia i e drered

afegme 5t stifeasifafefer g aroruaTd Id o gn druaFTEl S 3cad L ¢

A) 1800°C B) 2100°C C) 2400°C D) 3200°C
AT STegel UhHHT YfehT TR Ut ... .. ITIATd

A) T fem B) TarifHT 03 C) Siiee Tefia D) feew wie wefa
FHIEARHT T € dog FHIUATETS! ATILdTd

A) HId, TR A, W, AIMHI 31 B) ST ATIOT Sif-gt

C) AT AW hesh JEINT Hifeed D) EREREEN

A I AR ST

A) e fefeguem v a1 B) 3T fefegue™ 3= o1

C) AT 3TfoT 7 fefeguym v =12 D ENSEIGHEI
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96.

97.

98.

99.

100.

Toarféi i, Fasi| YaM el 311R e :

A) = B) T™

C) 378 U=rer 3TfUT 378 S D) F=er fera errer, fesmerean faevamer s
WWWQ%T .............. ?ﬁmgﬁﬁ

A) gz B) siffaaemfm C) TSRS D) ENEECIE]
HIRIGHTHICE, SHICTHR, STIE skt FIie STEERIUIT BTER AUTET 3l -

A) e T B) feou s C) for i\ D) & I
IFTER 25 mm =1 AT 15 mm S<ii= Y fireauvamdnd], U3e so-<he a8 et 3@ :

A) 42 mm B) 44 mm C) 46 mm D) 48 mm

g AfaaERicT afeet grEted g -

A) e S B) AfffremvMT Sad  C) shiei ot saq D) ol Gaetet
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ROUGH WORK
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